EARAROBREBRT —5 XN—ZXBISH—F

202218128 (K) 20EE1H

m 3mC1 USR3RE ‘(fﬁ} B ‘[%EH?’;F&] - | & o B
[AXE%&) 1 %&:700,000 ~ 23#%&:280,000H  33#%&:175,000H . 43#&:105,000 M ~ 5 3&:70,000 M
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N = — 3 | HE®K 1:33.6 5-4-3-3 |38.8| -— 4 430 | BP—I5 (BH)
1156 | FTY3STF=ZTIL e 54.0 =) © | @ MERZ—II
RiTUF—Y BHYIUIFAVY HRAH T4
= LUASEXFE] 2 -4-1- - BAEE (@)
208l12|77AFILSY "3RS 1'(3133'8 82 ’ (4_857) T
RibE=RD—F— B:STFvS WA Z 7 — L
3~ = 3 | BEXKX 1:33.9 6-6-5-5 |38.7| — 1 466 |BEBH @)
] 4| TAYVINS 55.0 (3/4) o |THEE
R:IAYVeH) B:RU—T7— S
. s KUEE : -6-3- - EREE (FEk)
41719 TAIIRXFIIR 3 54.0 1'(3(;4)'9 6634 1 40.0 3 (ffg) EF#ﬁg
RiNA0 B:I—-YYRNAY— SERUS
<~ S 3 | HAES 1:35.0 9-8-8-7 |39.7| - 6 389 | EEXE (HH)
EH 7| QYIS —-7RT # 54.0 /2) 7 IEIIJ%}?)'(E
RIE—URX BRZANES—FRT Hiat ASK STUD
: P : 97 - )
617110/ 1o/ HTvEX 4 3 ox 1(.13/52.)1 8-9-7-6 | 39.9 9 (4+720) 3;—; “gé
RiO—IRAA XA B:RU—T7—FV MR Rif
55 s 3 | EFE= 1:35.1 3-3-2-2 | 40.5| - 7 | 398 |BE®R EH
71811 N—=TU— 54.0 NF) (-6) A
R:STU=FA4 BN-ZVITFAR [Faaskae]
Q. ft 3 | SEEX 1:35.4 12-12-10-8 | 39.6 | — 11 | 400 |FEshid (REH)
8|5/5|F—-LUDF 0 @ o) | AVERA
R:TUA—Y BIERYN-T o s
N W 43 | EEm 1:35.9 11-10-11-9 | 40.4 | — 5 31 | BEAEX (EE)
EH 3INTITvF 54.0 o) 2 |8 F—ILPRZMEE
RiUAVF4—R B:FUAIAY E (RIE
. hHEL :37. F1=12- . - FHEA (FkR)
w1l [ 9FLT07F 8 3 rER (193{71;) 10-11-12-11| 42.0 12 (4_620) Rt
RiSZ B:FLRUR ESHhIT7—L
—nan s REBRER : -2-6- - TEE (FEk
N . DR L CIENE- 7. T A 0T
R:VILUN=ZTF—bk 8:75/330 WHE BR
== tt 3 | BET 1:39.7 1-1-9-12 [45.1| - 8 47 | BHEE ()
182 TI9554X 54.0 a0y (3 | SEBET
RivavFvhAvF §:7I90VIVIIN ISAN—=vTEYI—
@ 11— —®BIEfI
13—7— 2,8,11,12,6,(4,9),10,7,1,3,5
20—F— 2,8,11,(6,12),(4,9),7,10,3,1,5
30— — 12,11,(6,9),4,8,10,7,2,5,3,1
43— — 12,11,6,9,4,10,7,5,3,8,1,2
o ILRE
B B 6 1,630 JA R 6-12 5204 % 5E 5-8 2,020 3EE 4-6-12 1,140
7B B 6 210 4-6 320/ 5 & 6-12 1,900 3EH 6-12-4 12,930/
12 160 4-12 180H Ba 6-12 6,700/
4 110

ABIC OV TRUTEREERRODDZE. THRIIZEL.




